

VEZDOR

State of West Virginia Department of Administration Quotation Purchasing Division 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

Request for

T

RFQ NUMBER DEP13901

ADDRESS CORRESPONDENCE TO ATTENTION OF

CHUCK BOWMAN 304-558-2157

304-296-2562 ***709045842** TRIAD ENGINEERING CONSULTANTS PO BOX 1435

ST ALBANS WV 25177 **ENVIRONMENTAL PROTECTION** DEPARTMENT OF OFFICE OF AML&R 601 57TH STREET SE CHARLESTON, WV 25304 304-926-0499

DATEPRIN	TED	TER	MS OF SAL	E	SI	IIP VIA		F.O.B	FREIGHT TERMS
03/29/									1 7004
BID OPENING DATE:	000000000000000000000000000000000000000	04/16/	<u> 2007</u>			BID	OPE		1:30PM
LINE	QUAI	NTITY	UOP	CAT. NO.	ITEM	NUMBER		UNITPRICE	AMOUNT
0001	DDTILT	1	JB		962-16 NORTHER	N DISTRI	CT		
	THE WE	ST VIR	GINIA	PURC	HASING	DI. DIVISION	, F(OR THE AGENCY, ENTAL PROTECT-	
	ION'S ING BI THE NO ING SP	ABANDO DS FOR RTHERN ECIFIC	NED M A CO COUN ATION	INE L NTRAC TIES S, TE	ANDS AN T TO PR OF WEST RMS & C	D RECLAM OVIDE DR VIRGINI ONDITION	ATICILLI A PE S, I	ON, IS SOLICITING SERVICES IER THE FOLLOW-BID REQUIRE-	 [N
	THESE		ES WI	LL RE	1	S ATTACH		PMENT OF	
	EXHIBI	T 3 OF CONT	RACT:	ТН	IS CONT	RACT BEC	OMES	S EFFECTIVE	
	UPON AYEAR ONECESSORIGINOT EXTIME" REASONWRITTE	WARD A IR UNTI SARY TO IAL CON CCEED T THE VE I UPON IN NOTI	ND EX L SUC OBTA TRACT WELVE NDOR GIVIN CE.	TENDS H "RE IN A . TH (12) MAY T G THE	ASONABL NEW CON E "REAS MONTHS ERMINAT DIRECT	TRACT OR ONABLE T DURIN THIS C OR OF PU	THEI REI IME' G TI ONTI RCH	REAFTER AS IS NEW THE " PERIOD SHALL HIS "REASONABL RACT FOR ANY ASING 30 DAYS	I
	IN THI	S CONT	RACT	DOCUM	ENT, TH		COI	D ELSEWHERE NDITIONS AND OF THE	
	RENEWA	AL: THI	S CON			RENEWED		ON THE MUTUAL	
SIGNATURE	Task &	1 /2	٠ ســ	OEE HE	VEHOE SIDE FO	TELEPHONE 304-75		DATE	April 16, 2007
Vice Presid	dent	· /Cog	55 - 0	 592364		1 304 7			ES TO BE NOTED ABOVE

GENERAL TERMS & CONDITIONS REQUEST FOR QUOTATION (RFQ) AND REQUEST FOR PROPOSAL (RFP)

- 1. Awards will be made in the best interest of the State of West Virginia.
- 2. The State may accept or reject in part, or in whole, any bid.
- 3. All quotations are governed by the West Virginia Code and the Legislative Rules of the Purchasing Division.
- 4. Prior to any award, the apparent successful vendor must be properly registered with the Purchasing Division and have paid the required \$125.00 registration fee.
- 5. All services performed or goods delivered under State Purchase Orders/Contracts are to be continued for the term of the Purchase Order/Contract, contingent upon funds being appropriated by the Legislature or otherwise being made available. In the event funds are not appropriated or otherwise available for these services or goods, this Purchase Order/Contract becomes void and of no effect after June 30.
- 6. Payment may only be made after the delivery and acceptance of goods or services.
- 7. Interest may be paid for late payment in accordance with the West Virginia Code.
- 8. Vendor preference will be granted upon written request in accordance with the West Virginia Code.
- 9. The State of West Virginia is exempt from federal and state taxes and will not pay or reimburse such taxes.
- 10. The Director of Purchasing may cancel any Purchase Order/Contract upon 30 days written notice to the seller.
- 11. The laws of the State of West Virginia and the *Legislative Rules* of the Purchasing Division shall govern all rights and duties under the Contract, including without limitation the validity of this Purchase Order/Contract.
- **12.** Any reference to automatic renewal is hereby deleted. The Contract may be renewed only upon mutual written agreement of the parties.
- **13. BANKRUPTCY:** In the event the vendor/contractor files for bankruptcy protection, this contract is automatically null and void, and is terminated without further order.
- 14. HIPAA Business Associate Addendum The West Viginia State Government HIPAA Business Associate Addendum (BAA), approved by the Attorney General, and available online at the Purchasing Division's web site (http://www.state.wv.us/admin/purchase/vrc/hipaa.htm) is hereby made part of the agreement. Provided that, the Agency meets the definition of a Covered Entity (45 CFR §160.103) and will be disclosing Protected Health Information (45 CFR §160.103) to the vendor.

INSTRUCTIONS TO BIDDERS

- 1. Use the quotation forms provided by the Purchasing Division.
- 2. SPECIFICATIONS: Items offered must be in compliance with the specifications. Any deviation from the specifications must be clearly indicated by the bidder. Alternates offered by the bidder as EQUAL to the specifications must be clearly defined. A bidder offering an alternate should attach complete specifications and literature to the bid. The Purchasing Division may waive minor deviations to specifications.
- 3. Complete all sections of the quotation form.
- Unit prices shall prevail in cases of discrepancy.
- 5. All quotations are considered F.O.B. destination unless alternate shipping terms are clearly identified in the quotation.
- 6. BID SUBMISSION: All quotations must be delivered by the bidder to the office listed below prior to the date and time of the bid opening. Failure of the bidder to deliver the quotations on time will result in bid disqualifications.

SIGNED BID TO:

Department of Administration Purchasing Division 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130



NODZE

SIGNATURE

State of West Virginia Department of Administration **Purchasing Division** 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

Request for Quotation

þ

RFQ NUMBER DEP13901

April 16, 2007

ADDRESS CHANGES TO BE NOTED ABOVE

ADDRESS CORRESPONDENCE TO ATTENTION OF

CHUCK BOWMAN 304-558-2157

*709045842 304-296-2562 TRIAD ENGINEERING CONSULTANTS PO BOX 1435

ST ALBANS WV 25177 **ENVIRONMENTAL PROTECTION** DEPARTMENT OF OFFICE OF AML&R 601 57TH STREET SE CHARLESTON, WV 25304 304-926-0499

DATE PRINTED SHIP VIA F.O.B. FREIGHT TERMS TERMS OF SALE 03/29/2007 **BID OPENING DATE:** 04/16/2007 **BID OPENING TIME** 01:30PM QUANTITY. ITEM NUMBER UNIT PRICE AMOUNT LINE WRITTEN CONSENT OF THE SPENDING UNIT AND VENDOR, SUBMITTED TO THE DIRECTOR OF PURCHASING THIRTY (30) DAYS PRIOR TO THE EXPIRATION DATE. SUCH RENEWAL SHALL BE IN ACCORDANCE WITH THE TERMS AND CONDITIONS OF THE ORIGINAL CONTRACT AND SHALL BE LIMITED TO TWO (2) ONE (1) YEAR PERIODS. CANCELLATION: THE DIRECTOR OF PURCHASING RESERVES THE RIGHT TO CANCEL THIS CONTRACT IMMEDIATELY UPON WRITTEN NOTICE TO THE VENDOR IF THE COMMODITIES AND/OR SERVICES SUPPLIED ARE OF AN INFERIOR QUALITY OR DO NOT CONFORM TO THE SPECIFICATIONS OF THE BID AND CONTRACT HEREIN. OPEN MARKET CLAUSE: THE DIRECTOR OF PURCHASING MAY AUTHORIZE A SPENDING UNIT TO PURCHASE ON THE OPEN MARKET, WITHOUT THE FILING OF A REQUISITION OR COST ESTIMATE, ITEMS SPECIFIED ON THIS CONTRACT FOR IMMEDIATE DELIVERY IN EMERGENCIES DUE TO UNFORESEEN CAUSES (INCLUDING BUT NOT LIMITED TO DELAYS IN TRANS-PORTATION OR AN UNANTICIPATED INCREASE IN THE VOLUME OF WORK.) QUANTITIES: QUANTITIES LISTED IN THE REQUISITION ARE APPROXIMATIONS ONLY, BASED ON ESTIMATES SUPPLIED BY THE STATE SPENDING UNIT. IT IS UNDERSTOOD AND AGREED THAT THE CONTRACT SHALL COVER THE QUANTITIES ACTUALLY ORDERED FOR DELIVERY DURING THE TERM OF THE CONTRACT, WHETHER MORE OR LESS THAN THE QUANTITIES SHOWN. ORDERING PROCEDURE: SPENDING UNIT(S) SHALL ISSUE A WRITTEN STATE CONTRACT ORDER (FORM NUMBER WV-39) TO THE VENDOR FOR COMMODITIES COVERED BY THIS CONTRACT. THE ORIGINAL COPY OF THE WV-39 SHALL BE MAILED TO THE VENDOR AS AUTHORIZATION FOR SHIPMENT, A SECOND COPY MAILED TO THE PURCHASING DIVISION, AND A THIRD COPY RETAINED BY THE SPENDING UNIT. SEE REVERSE SIDE FOR TERMS AND CONDITIONS

55-0592364

304-755-0721



State of West Virginia
Department of Administration
Purchasing Division
2019 Washington Street East
Post Office Box 50130
Charleston, WV 25305-0130

Request for Quotation

S

DEP13901

PAGE

ADDRESS CORRESPONDENCE TO ATTENTION OF:

CHUCK BOWMAN 304-558-2157

VENDOR

*709045842 304-296-2562 TRIAD ENGINEERING CONSULTANTS PO BOX 1435

ST ALBANS WV 25177

ENVIRONMENTAL PROTECTION
DEPARTMENT OF
OFFICE OF AML&R
601 57TH STREET SE
CHARLESTON, WV
25304 304-926-0499

DATE PRINTED	TERMS OF SALE	SHIP VIA	F.O.B;	FREIGHT TERMS
03/29/2007				
BID OPENING DATE:	04/16/2007	BID	OPENING TIME 0	1:30PM
LINE QUAN	ITITY UOP CAT.	ITEM NUMBER	UNIT PRICE	AMOUNT
FOR BA	NKRUPTCY PROTECT	ENT THE VENDOR/C ION, THIS CONTRA ND IS TERMINATED	CT IS AUTOMATI-	
SHALL CONDIT DOCUME AGREEM	SUPERSEDE ANY AN IONS WHICH MAY A NTS SUCH AS PRIC	NS CONTAINED IN D ALL SUBSEQUENT PPEAR ON ANY ATT E LISTS, ORDER F NCE AGREEMENTS, AS CD-ROM.	TERMS AND ACHED PRINTED ORMS, SALES	
REV. 0	4/11/2001 VENDOR PR	EFERENCE CERTIFI	CATE	
PREFER	ENCE IN ACC <mark>ORDAN</mark>	ICATION* IS HERE CE WITH WEST VIR Y TO CONSTRUCTIO	GINIA CODE,	•
1	PLICATION IS MAD	E FOR 2.5% PREFE	RENCE FOR THE	
HAS RE	SIDED CONTINUOUS	IVIDUAL RESIDENT LY IN WEST VIRGI PRECEDING THE DA	NIA FOR FOUR	
TION R QUARTE WEST V THE DA INTERE	ESIDENT VENDOR A RS OR PRINCIPAL IRGINIA FOR FOUR TE OF THIS CERTI ST OF BIDDER IS	NERSHIP, ASSOCIA ND HAS MAINTAINE PLACE OF BUSINES (4) YEARS IMMED FICATION; OR 80% HELD BY ANOTHER ON OR CORPORATIO	D ITS HEAD- S CONTINUOUSLY I IATELY PRECEDING OF THE OWNERSHI INDIVIDUAL,	N P
SIGNATURE AND A	SEE RE	VERSE SIDE FOR TERMS AND CON TELEPHONE	İDATE	
////ack 4	· Kager	304-75	55 - 0721 A	pril 16, 2007
TITLE Vice President	FEIN 55 - 0592364	4	ADDRESS CHANGE	S TO BE NOTED ABOVE



State of West Virginia
Department of Administration
Purchasing Division

Administration
Purchasing Division 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

Request for

P

DEP13901

ADDRESS CORRESPONDENCE TO ATTENTION OF

CHUCK BOWMAN 304-558-2157

VENDOR

*709045842 304-296-2562 TRIAD ENGINEERING CONSULTANTS PO BOX 1435

ST ALBANS WV 25177 **ENVIRONMENTAL PROTECTION** DEPARTMENT OF OFFICE OF AML&R 601 57TH STREET SE CHARLESTON, WV 25304 304-926-0499

DATE PRINTED		TERI	VIS OF SALE		SHIP V	IA		F.O.B.		FREIGHTTERMS
03/29/20										
BID OPENING DATE:	0	4/16/	2007			BID	OPENIN	G TIME	01:	30PM
LINE	QUANT	ITY	UOP	CAT. NO.	ITEM NUM	1BER	ι	JNIT PRICE		AMOUNT
			*************						999999999	
OF YE	BUSI ARS I	NESS	CONTINI ATELY	บอบร	HEADQUAR LY IN WES EDING THE	T VIRGI	NIA FO	R FOUR (1	
WH A HA BU FO	ICH H MINIM S MAI SINES UR (4	AS AN UM OF NTAIN S WIT	AFFIL ONE HI ED ITS HIN WES	IATE UNDRI HEAC ST V	DRATION N OR SUBSI ED STATE QUARTERS IRGINIA C TELY PREC	DIARY W RESIDEN OR PRIN ONTINUO	HICH E TS AND CIPAL USLY F	MPLOYS WHICH PLACE OF OR THE		
B. RE		LICAT		MAD	FOR 2.5	% PREFE	RENCE	FOR THE		
DU 75 AR TH PR	RING % OF E RES E STA ECEDI	THE LIDENT	IFE OF MPLOYEI S OF WI NTINUOI	THE ES WO EST V	DENT VEND CONTRACT DRKING ON VIRGINIA FOR THE THIS BI	, ON AVI THE PRI WHO HAVI TWO YEA	ERAGE DJECT E RESI	AT LEAST BEING BI DED IN	D	
MI NO WH OF OF DU 75 SU WH) B NIMUM NRESI ICH M BUSI ONE RING % OF BSIDI O HAV	OF OIDENT OF OIDENT OF OIDENT	NE HUNIVENDOR INS ITS WITHIN ED STATIFE OF MPLOYEI EMPLOTIDED II	DRED WITH S HEA WES TE RE THE ES OF YEES N THE	SIDENT V STATE RE AN AFFI ADQUARTER VIRGINI SIDENTS CONTRACT R BIDDERS ARE RESI STATE CEDING SUB	SIDENTS LIATE OF S OR PR A EMPLO WHO CER ON AVE ON AVE DENTS OF	OR IS R SUBS INCIPA YING A TIFIES ERAGE IATE'S F WEST USLY F	A IDIARY L PLACE MINIMUM THAT, AT LEAST OR VIRGINI OR THE T	.	
			STANDS	IF	THE SECRE	TARY OF	TAX &			
SIGNATURE ////		110		oee HeV	ERSE SIDE FOR TE	HMS AND CON	DIHONS	- Ir	DATE	
1/1/0	aun K	t 10e	ser			304-755	-0721			il 16. 2007
TITLE		FF	β1 <u></u>	50226			Α	ADDRESS CHAI		D BE NOTED ABOVE



>EZDOR

*709045842

PO BOX 1435

ST ALBANS WV

State of West Virginia
Department of Administration
Purchasing Division
2019 Washington Street East
Post Office Box 50130
Charleston, WV 25305-0130

25177

TRIAD ENGINEERING CONSULTANTS

304-296-2562

Request for **Quotation**

DEP13901

PAGE

ADDRESS CORRESPONDENCE TO ATTENTION OF

CHUCK BOWMAN 304-558-2157

07-p

ENVIRONMENTAL PROTECTION DEPARTMENT OF OFFICE OF AML&R 601 57TH STREET SE CHARLESTON, WV

25304

304-926-0499

DATE PRINT	TED	TER	MS OF SAL	E	SHIPV	IA	F	O.B.		FREIGHT	ERMS
03/29/							0000000				
BID OPENING DATE:	100000000000000000000000000000000000000	04/16/		CAT.			OPENING		01:3		
LINE	QUA	NTITY	UOP	NO	ITEM NUN	/BER	UNI	TPRICE		AMOU	JNT
	FAILED PREFER PURCHA ORDER BIDDER AND TH AGENCY CONTRA BY SUE DISCLO PURCHA PURCHA	TO CORENCE, ASING TO ISSUED OF IN AN ISSUED ACT OR DE ACT OR BMISSIO ASING D ID REVE ASING A	NTINU THE S O: (; OR AMOU H PEN DUCTE PURCH N OF REAS IVISI NUE T PPROP	BIDD E TO ECRET A) RE (B) A NT NO ALTY D FRO ASE O THIS ON AN O DIS RIATE	ER RECEIV MEET THE ARY MAY O SCIND THE SSESS A P T TO EXCE WILL BE P M ANY UNP RDER. CERTIFICA Y REQUEST D AUTHORI CLOSE TO INFORMAT QUIRED BU	REQUIRE RDER TH CONTRA ENALTY ED 5% O AID TO AID BAL TE, BID ED INFO ZES THE THE DIR ION VER	MENTS FOE DIRECT OR PURCH AGAINST THE CONTANCE ON DER AGREEM TO THE CONTANCE OR THE CONTANCE OR THE CORTOR OF THE	DR SUCH FOR OF JRCHASE SUCH FRACTIN THE THE TO THE FRACT FOR THE	INT IG		
•	THAT S TAXES COMMIS UNDER CODE 6 CERTIF THAT I CONTAI	UCH IN PAID N SIONER PENALT 1-5-3) ICATE F A CO NED WI	FORMA OR AN TO B Y OF , BID IS TR NTRAC THIN CONTR WRITI	TION Y OTH E CON LAW F DER H UE AN T IS THIS ACT,	DOES NOT ER INFORM FIDENTIAL OR FALSE EREBY CER D ACCURAT ISSUED TO CERTIFICA BIDDER WI MEDIATELY	CONTAIN ATION D SWEARIN TIFIES E IN AL BIDDER TE CHAN LL NOTI . Engineer	THE AMO EEMED BY G (WEST THAT THI L RESPEC AND IF GES DURI FY THE F	OUNTS OF THE TOTAL STATES ANYTHICS OF THE	IF AX IIA ID NG		
				DATE: SIGNE	p: - 17/1	16, 2007 Jask H	· Pleg	er			
SIGNATURE ///	1 . , ,	/ <i>-</i>		SEE RE	VERSE SIDE FOR TO			 	DATE.	7 46 00	.O.T.
TITLE	uch h	4 · /(ger N			TELEPHONE 304-75				1 16, 20	
Vice Pres	sident		55 -	059236	4		ADI	DRESS CHA	NGES TO	BE NOTED	ABOVE



VEZDOR

State of West Virginia
Department of Administration
Purchasing Division
2019 Washington Street East
Post Office Box 50130
Charleston, WV 25305-0130

Request for Quotation

DEP13901

PAGE

ADDRESS CORRESPONDENCE TO ATTENTION OF

CHUCK BOWMAN 304-558-2157

*709045842 304-296-2562 TRIAD ENGINEERING CONSULTANTS PO BOX 1435

ST ALBANS WV 25177

ENVIRONMENTAL PROTECTION
DEPARTMENT OF
OFFICE OF AML&R
601 57TH STREET SE
CHARLESTON, WV
25304 304-926-0499

DATE PRINTED TERMS OF SALE SHIP VIA F.O.B. FREIGHT TERMS 03/29/2007 BID OPENING TIME **BID OPENING DATE:** 04/16/2007 01:30PM UNIT PRICE LINE **QUANTITY** ITEM NUMBER AMOUNT TITLE: - Vice President * CHECK ANY COMBINATION OF PREFERENCE CONSIDERATION(S) IN EITHER "A" OR "B", OR BOTH "A" AND "B" WHICH YOU AR YOU MAY REQUEST UP TO THE MAXIMUM ENTITLED TO RECEIVE. 5% PREFERENCE FOR BOTH "A" AND "B". (REV. 12/00) NOTICE A SIGNED BID MUST BE SUBMITTED TO: DEPARTMENT OF ADMINISTRATION PURCHASING DIVISION BUILDING 15 2019 WASHINGTON STREET, EAST CHARLESTON, WV 25305-0130 THE BID SHOULD CONTAIN THIS INFORMATION ON THE FACE OF THE ENVELOPE OR THE BID MAY NOT BE CONSIDERED: SEALED BID CB-23 BUYER: DEP 13901 RFQ. NO.: BID OPENING DATE: 04/16/2007 BID OPENING TIME: 1:30 PM SEE REVERSE SIDE FOR TERMS AND CONDITIONS April 16, 2007 SIGNATURE 304-755-0721 ADDRESS CHANGES TO BE NOTED ABOVE 55-0592364 Vice President



VEZDOR

State of West Virginia Department of Administration Purchasing Division 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

Request for Quotation

P

DEP13901

PAGE

ADDRESS CORRESPONDENCE TO ATTENTION OF:

CHUCK BOWMAN 304-558-2157

*709045842 304-296-2562 TRIAD ENGINEERING CONSULTANTS PO BOX 1435

ST ALBANS WV 25177

ENVIRONMENTAL PROTECTION
DEPARTMENT OF
OFFICE OF AML&R
601 57TH STREET SE
CHARLESTON, WV
25304 304-926-0499

07/20/		 	NO OF SAL			Sigilia VIA	300000000	1.0.0.	********	INEIGHT LENVIC
03/29/ BID OPENING DATE:		04/16/	2007		<u></u>		ח חד	PENING TIME		:30PM
	leccessore execut		UOP	CAT	ITC		<u> </u>	UNITPRICE		AMOUNT
LINE	QUAI	NTITY	UUP	NO.	l I l	M NUMBER		UNIT PRICE		AWUUNI
,										
							:			
	PLEASE	PROVI	DE A	FAX N	UMBER	IN CASE	ΙT	IS NECESSARY		
					NG YOU					
		304-7	55-188	0						
·	-									
	CONTAC	T PERS	ON (P	LEASE	PRINT	CLEARL	Y):			
	*.	Mark	H. Reg	er		+				
	<u> </u>									
										,
	*****	THIS	IS T	HE EN	D OF R	FQ DE	P139	01 ***** TO	TAL:	\$ 293,300.00
							•			
		,								
SIGNATURE /V	ייי ער אר	11		SEE RE	VERSE SIDE	FOR TERMS A ITELEPHO			DATE	
///	Iauk K	7. 1(eg	ew .	M-112		304	-755 - (······································	Ap	ril 16, 2007
Vice Pr	esident	. 0	55 -	059236	54			ADDRESS CHA	NGES	TO BE NOTED ABOVE

BID SCHEDULE

WV-36 Rev. 10/81

STATE OF WEST VIRGINIA PURCHASING CONTINUATION SHEET

Buyer:	Page Req. or P.O. No:
	1020
23	DEP1.3901
Spending Uni	t:

Vendor:

DEP AML DRILLING OPEN-END CONTRACT Northern Region

Northern Region							
Item No:	Quantity	Description	Unit Price	Amount			
1 .	3,000 LF	Soil Borings	12.00	<u>s_36,000.</u> 00			
2	200 Ea.	Split Spoon Samples	16.00	s <u>3,200.</u> 00			
3	75 Ea.	Shelby Tube Samples	_65.00	\$ <u>4,875.</u> 00			
4	4,000 LF	Rock Core Boring	26.50	\$ <u>106,000.</u> 00			
5	175 HRS	Portable Drill Unit (Winkie)	70.00	s 12,250.00			
6	1,800 LF	PVC Piezometer Installation	12.00	s <u>21,600.</u> 00			
7	50 Ea.	Casing/Locks	150.00	s <u>7,500.</u> 00			
8	4,000 Miles	Mobilization/Demobilization (per each Rig) both ways	5.25	s <u>21,000.</u> 00			
9	300 Hrs.	Dozer Time for Difficult Access/Reclamation (CAT D-3 or equal)	85.00	<u>\$ 25,500.</u> 00			
10	300 Hrs.	Backhoe Time for Test Pits/Reclamation (Komatsu PC120 or equal)		s <u>23,400.</u> 00			
11	150 LF	Rotary Drilling for Video Monitoring		s <u>4,200.</u> 00			
12	150 LF	Casing for Video Monitoring	12.00	\$ <u>1,800.</u> 00			
13	5 Days	Video Monitoring	1 <u>; 300;00</u>	s <u>6,500.</u> 00			
<u>14</u>		Laboratory Tests					
a.	10 Ea.	Moisture Content	5.00	s50.00			
ъ.	10 Ea.	Atterberg Plastic Limit	30.00	s <u>300.</u> 00			
c.	10 Ea.	Atterberg Liquid Limit	30.00	s <u>300.</u> 00			
d.	10 Ea.	Sieve Analysis with No. 200 Wash	30.00	s <u>300.</u> 00			
е.	10 Ea.	Sieve Analysis without No. 200 Wash	25.00	s <u>250.</u> 00			
f.	10 Ea.	Hydrometer Analysis	50.00	\$ <u>500.</u> 00			
g.	10 Ea.	Unconfined Compression	35.00	<u>\$ 350.</u> 00			
h.	10 Ea.	In Place Density	25.00	s <u>250.</u> 0			

BID SCHEDULE

WV-36 Rev. 10/81

STATE OF WEST VIRGINIA PURCHASING CONTINUATION SHEET

Buyer:	Page	Req. or P.O. No:		
23	21	DEP13901		

Vendor:

DEP AML DRILLING OPEN-END CONTRACT Northern Region

Item No:	Quantity	Description	Unit Price	Amount
i.	10 Ea.	Standard Proctor Compaction	100.00	\$1,000.00
j.	20 Ea.	Temperature Probe Reading	10.00	s 200.00
k.	10 Ea.	Float Sink Analysis (with various specific gravities)	35.00	<u>\$ 350.00</u>
1.	10 Ea.	% Ash	20.00	s 200.00
m.	10 Ea.	% Volatiles	25.00	s <u>250.00</u>
n.	10 Ea.	% Fixed Carbon	40.00	s <u>400.00</u>
о.	10 Ea.	% Sulphur	20.00	<u>\$ 200.00</u>
p.	10 Ea.	BTU	20.00	s 200.00
<u>15.</u>		Triaxial Compression or Direct Shear		
a.	5 Ea.	Unconsolidated Undrained	357.00	\$ <u>1,875.00</u>
b.	5 Ea.	Consolidated Undrained	600.00	\$3,000.00
c.	5 Ea.	Consolidated Drained	750.00	\$3,750.00
d.	5 Ea.	Sodium Sulfate Soundness Test ASTM C88	200.00	<u>\$1,000.00</u>
<u>16</u>		Miscellaneous Services		
a.	5 Ea.	(1) acid-base account	40.00	s <u>20000</u> .
ъ.	5 Ea.	(2) nutrients	40.00	s 200.00
c.	10 Ea.	(3) PH (field)	15.00	<u>\$ 150.00</u>
đ.	10 Ea.	(4) PH (lab)	15.00	\$ 150.00
е.	500 Miles	(5) Mobilization/De-Mobilization Haz-Mat Testing (One Way Only)	4.00	\$ <u>2</u> ,000.00
f.	10 Ea.	(6) Asbestos	10.00	\$_100.00
g.	10 Ea.	(7) Total Petroleum Hydrocarbons	_85.00	\$ 850.00
h.	10 Ea.	(8) BETX	45.00	\$ 450.00
i.	10 Ea.	(9) PCB's	65.00	\$ <u>~.650</u> .00
		TOTAL BID		\$293,300.0

AFFIDAVIT

022

West Virginia Code §5A-3-10a states:

No contract or renewal of any contract may be awarded by the state or any of its political subdivisions to any vendor or prospective vendor when the vendor or prospective vendor or a related party to the vendor or prospective vendor is a debtor and the debt owned is an amount greater than one thousand dollars in the aggregate

DEFINITIONS:

"Debt" means any assessment, premium, penalty, fine, tax or other amount of money owed to the state or any of its political subdivisions because of a judgment, fine, permit violation, license assessment, defaulted workers' compensation premium, penalty or other assessment presently delinquent or due and required to be paid to the state or any of its political subdivisions, including any interest or additional penalties accrued thereon.

"Debtor" means any individual, corporation, partnership, association, limited liability company or any other form or business association owing a debt to the state or any of its political subdivisions. "Political subdivision" means any county commission; municipality; county board of education; any instrumentality established by a county or municipality; any separate corporation or instrumentality established by one or more counties or municipalities, as permitted by law; or any public body charged by law with the performance of a government function or whose jurisdiction is coextensive with one or more counties or municipalities. "Related party" means a party, whether an individual, corporation, partnership, association, limited liability company or any other form or business association or other entity whatsoever, related to any vendor by blood, marriage, ownership or contract through which the party has a relationship of ownership or other interest with the vendor so that the party will actually or by effect receive or control a portion of the benefit, profit or other consideration from performance of a vendor contract with the party receiving an amount that meets or exceed five percent of the total contract amount.

EXCEPTION:

The prohibition of this section does not apply where a vendor has contested any tax administered pursuant to chapter eleven of this code, workers' compensation premium, permit fee or environmental fee or assessment and the matter has not become final or where the vendor has entered into a payment plan or agreement and the vendor is not in default of any of the provisions of such plan or agreement.

LICENSING:

Vendors must be licensed and in good standing in accordance with any and all state and local laws and requirements by any state or local agency of West Virginia, including, but not limited to, the West Virginia Secretary of State's Office, the West Virginia Tax Department, West Virginia Insurance Commission, or any other state agencies or political subdivision. Furthermore, the vendor must provide all necessary releases to obtain information to enable the Director or spending unit to verify that the vendor is licensed and in good standing with the above entities.

CONFIDENTIALITY:

The vendor agrees that he or she will not disclose to anyone, directly or indirectly, any such personally identifiable information or other confidential information gained from the agency, unless the individual who is the subject of the information consents to the disclosure in writing or the disclosure is made pursuant to the agency's policies, procedures and rules. Vendors should visit www.state.wv.us/admin/purchase/privacy for the Notice of Agency Confidentiality Policies.

Under penalty of law for false swearing (West Virginia Code, §61-5-3), it is hereby certified that the vendor acknowledges the information in this said affidavit and are in compliance with the requirements as stated.

Vendor's Name:	Triad Engineering Inc.				
Authorized Signatur	e: Mark A. Kegu	Date: _	April 16,	2007	
No Debt Affidavit (Revised		•			

04/13/2007 11:08

3047551880

TRIAD ENGINEERING WY PURCHASING ACA SECT Fax 304-550-4115

PAGE 03/03
Apr 13 2007 11:44am PU02/002
WV Environmental
Agency Protection Agency
REQ.P.O# DEP13901

BID BOND

KNOW ALL MEN BY THESE PRESENTS. That we, the undersigned,	Triad Engineering, Inc.
af <u>Scott Depot</u> , <u>WV</u>	
Company of Cincinnati, OH , a comporation	organized and existing under the laws of the State of
Ohio with its principal office in the City of <u>Cincinnati</u>	
of West Virginia, as Obligee, in the penal sum of 5% of bid	\$ 14,665.00) for the payment of which,
well and truly to be made, we jointly and severally bind ourselves, our heirs, ac	Iministrators, executors, successors and assigns.
The Condition of the above obligation is such that whereas the Princip	oal has submitted to the Purchasing Section of the
Department of Administration a certain bid or proposal, attached hereto and m	
Drilling services for Northern Distr	rict
NOW THEREFORE.	
 (a) If said bid shall be rejected, or (b) If said bid shall be accepted and the Principal shall enter into a company of the prin	ontract in accordance with the bid or proposal attached
hereto and shall furnish any other bonds and insurance required by the bid or p	proposal, and shall in all other respects perform the
agreement created by the acceptance of said bid, then this obligation shall be torce and effect. It is expressly understood and agreed that the liability of the S	
exceed the penal amount of this obligation as herein stated.	,
The October of the Control of the Co	
The Surety, for the value received, hereby stipulates and agrees that way impaired or affected by any extension of the time within which the Obligee	
waive notice of any such extension.	
IN WITNESS WHEREOF, Principal and Surety have hereunto set the	ir hands and seals and such of them as are thought
have caused their corporate seals to be affixed hereunto and these presents to	<u>.</u>
13th day of April	so signod by man propor concers, and
Principal Corporate Seat	TRIAD ENGINEERING. INC.
	(Name of Principal)
	By Malk A. Regu
	(Must be President or Vice President)
·	
	VICE FRESIDENT
•	(Title)
Surely Corporate Seal	CINCINNATI INSURANCE COMPANY
	(Name of Surety)
	() ··· C / ···
	Leaver J. Carter
	() (Altorney-in-Fact

IMPORTANT - Surety executing bonds must be licensed in West Virginia to transact surety insurance. Corporate seals must be affixed, a power of attorney must be attached.

THE CINCINNATI INSURANCE COMPANY

Fairfield, Ohio

POWER OF ATTORNEY

KNOW ALL MEN BY THESE PRESENTS: That THE CINCINNATI INSURANCE COMPANY, a corporation organized under the laws of the State of Ohio, and having its principal office in the City of Fairfield, Ohio, does hereby constitute and appoint

Gregory A. Hulver; Robyn R. McGrath; Joseph P. Barauskas, III;

Michael G. Cook; Peggy S. Carter and/or Cynthia Kelley each in their separate capacity.

of Winchester, Virginia

its true and lawful Attorney(s)-in-Fact to sign, execute, seal and deliver on its behalf as Surety, and as its act and deed, any and all bonds, policies, undertakings, or other like instruments, as follows:

Any such obligations in the United States, up to

Five Million and No/100 Dollars (\$5,000,000.00).

This appointment is made under and by authority of the following resolution passed by the Board of Directors of said Company at a meeting held in the principal office of the Company, a quorum being present and voting, on the 6th day of December, 1958, which resolution is still in effect:

"RESOLVED, that the President or any Vice President be hereby authorized, and empowered to appoint Attorneys-in-Fact of the Company to execute any and all bonds, policies, undertakings, or other like instruments on behalf of the Corporation, and may authorize any officer or any such Attorney-in-Fact to affix the corporate seal; and may with or without cause modify or revoke any such appointment or authority. Any such writings so executed by such Attorneys-in-Fact shall be binding upon the Company as if they had been duly executed and acknowledged by the regularly elected officers of the Company."

This Power of Attorney is signed and sealed by facsimile under and by the authority of the following Resolution adopted by the Board of Directors of the Company at a meeting duly called and held on the 7th day of December, 1973.

"RESOLVED, that the signature of the President or a Vice President and the seal of the Company may be affixed by facsimile on any power of attorney granted, and the signature of the Secretary or Assistant Secretary and the seal of the Company may be affixed by facsimile to any certificate of any such power and any such power of certificate bearing such facsimile signature and seal shall be valid and binding on the Company. Any such power so executed and sealed and certified by certificate so executed and sealed shall, with respect to any bond or undertaking to which it is attached, continue to be valid and binding on the Company."

IN WITNESS WHEREOF, THE CINCINNATI INSURANCE COMPANY has caused these presents to be sealed with its corporate seal, duly attested by its Senior Vice President this 1st day of August, 2004.

STATE OF OHIO COUNTY OF BUTLER) ss:

THE CINCINNATI INSURANCE COMPANY

Senior Vice President

On this 1st day of August, 2004, before me came the above-named Senior Vice President of THE CINCINNATI INSURANCE COMPANY, to me personally known to be the officer described herein, and acknowledged that the seal affixed to the preceding instrument is the corporate seal of said Company and the corporate seal and the signature of the officer were duly affixed and subscribed to said instrument by the authority and direction of said corporation.

MARK J. HULLER. Attorney at Law NOTARY PUBLIC - STATE OF OHIO

My commission has no expiration date. Section 147.03 O.R.C.

I, the undersigned Secretary or Assistant Secretary of THE CINCINNATI INSURANCE COMPANY, hereby certify that the above is a true and correct copy of the Original Power of Attorney issued by said Company, and do hereby further certify that the said Power of Attorney is still in full force and effect.

GIVEN under my hand and seal of said Company at Fairfield, Ohio.

13th day of this

April, 2007

Gregery J Secretary

BN-1005 (8/04)